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MATHEMATICS
Module 2
Infant 2
Section 2
Number - Part-Whole Relationship of 
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When I have completed this section,I will be able to: Solve one-step real-life addition and subtraction problems using different problem solving strategiesSection 2A 
–
 Addition 
In
v
e
s
t
ig
a
t
i
v
e T
a
sk 
P
enc
ils an
d Cr
a
y
o
ns








[image: background image]
INTRODUCTION 
The Mathematics E Book Modules is a compilation of content based on the topic Fractions across the levels of Innt One to Form Five. The content develops sequentially to lay the undational prerequisites r Fractions at the early levels, and then progresses to rmal actional concepts and their applications through the use of the area, linear and set models at the higher levels. Sudents' engagement with the E Book Modules will encourage the development of mathematical knowledge and numeracy skills such as communication, problem solving, critical thiking, representation and reasoning, through sel-directed leaing. The development of Number Sense is a cental ature of the modules, which is critical r solving realli problems. The materials are presented through the use of graphics, audio and digital elements such as animations, to capure stdents' interest and ster a love r leaing Mathematics. The provision of immediate edback aer completion of activities and exercises enhances students' metacognition which in t suports their understanding of mathematical content. Teachers can use this body of work as a model, as it reﬂects the Concrete Pictorial Abstract (C) approach which is ndaental to the teaching and leaing of Mathematics. The Ministr of Education of rinidad and Tobago wishes to express its sincere appreciation to all those who contibuted to the design, development and implementation of the Mathematics E Book Modules: CAF Development Bank ICEF MOE ICT Division, Education Technology Unit, Procurement Unit, Curriculum Planning and Development Division. 
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User 
Instructions 
This section will provide you with a quick overview of how to use and complete the interactive activities in this eBook General  
●When responding to questions, insert your answers by typing in the input box. Please do not type your answer with anyadditional spaces at the start or end or end of the answer or it will automatically be marked incorrect.Navi
gati
o
n & 
Buttons  
To 
play 
audio click 
the 
audio 
icon 
To 
move 
forward, 
click 
the 
arrow at the 
far 
right
To 
skip track 
click the forward 
icon 
To 
move 
backward, 
click the 
arrow at 
the 
far 
left  
To 
skip track 
click the forward 
icon 
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When I have completed this section,I will be able to: Solve one-step real-life addition and subtraction problems using different problem solving strategiesSection 2A 
–
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There were 7 pencils and 9 crayons in a box. How many items were there altogether?2i
t
ems
Hin
t
Steps in Problem Solving 1) Understand the problem What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  
 
You have made a mistake. Check your answer again
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Brent placed $11 in his cash pan last week. This week he placed $9. How much money did he save?Cha
l
l
en
g
e T
a
sk
$
Hin
t
Use Polya’s Steps in Problem Solving Steps in Problem Solving 1) Understand the problem  What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  
 
You have made a mistake. Check your answer again
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o
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r
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John has 13 blue cars and Henry has 4 red cars. How many cars do they have in total? Cha
l
l
en
g
e T
a
sk
$
Hin
t
Use Polya’s Steps in Problem Solving Steps in Problem Solving 1) Understand the problem  What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  
 
You have made a mistake. Check your answer again
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A cake stand holds cupcakes. There are 8 cupcakes on the first level and 7 cupcakes on the second level. How many cupcakes are on the stand? Cha
l
l
en
g
e T
a
sk
c
u
p
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s
Hin
t
Use Polya’s Steps in Problem Solving Steps in Problem Solving 1) Understand the problem  What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  
 
You have made a mistake. Check your answer again
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6Section 2B - Subtr
action
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A pack has 18 balloons.There are 12 blue balloons.The rest are gold.How many gold balloons are in the pack?  Hin
t
Use Polya’s Steps in Problem Solving Steps in Problem Solving 1) Understand the problem  What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  g
old b
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You have made a mistake. Check your answer again
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A total of 20 mangoes are on the table. There are 7 ripe mangoes and the rest are green. How many mangoes are green?   Cha
l
l
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g
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a
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Hin
t
Use Polya’s Steps in Problem Solving Steps in Problem Solving 1) Understand the problem  What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  
 
You have made a mistake. Check your answer again
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8Sa
vin
g t
o Buy a 
T
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r
A toy car costs $16. Mark has $9. How much more money does he need to buy the toy car? Cha
l
l
en
g
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a
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Hin
t
Use Polya’s Steps in Problem Solving Steps in Problem Solving 1) Understand the problem  What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  
 
You have made a mistake. Check your answer again
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Ali has 19 blocks. He has painted 5 blocks and will paint the rest tomorrow. How many blocks does he have to paint tomorrow?Cha
l
l
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g
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a
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t
Use Polya’s Steps in Problem Solving Steps in Problem Solving 1) Understand the problem  What do I know?  What do I have to find out? 2) Make a plan  What will I do to solve this?  3) Carry out the plan4) Look back  Examine what you have done to solve this problem and use another strategy to check your answer  
 
You have made a mistake. Check your answer again
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There are numerous models that students can use to solve a variety of addition and subtraction problems.Allow them sufficient time to discoverwhich models they enjoy using and why they have a particular preference. 
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Ensure that when the student checks back, he/she uses a different method of solving to ensure that the answer is accurate irrespective of whether the operation involves addition or subtraction. 
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SOLUTIONS
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Sol
u
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Using Polya’s steps in problem solving    1) A box has 7 pencils. It also has 9 crayons. Find out how many items are in the box (both        pencils and crayons).    2) Make a model using the ten frames and double-sided counters.    3) Carry out the plan.The model showed double-sided counterswith 7 red and 9 yellow counters.  4) The two parts, 7 and 9, make 16.        Therefore, 16 items are in the box altogether  5) An addition number sentence from this          problem is 7 + 9 = 16. The inverse, a subtraction number sentence, is 16 – 9 = 7There are 16 items altogether.7 pencils and 9 crayons7 red counters and 9 yellow counters16 items in the box16counters1
6
7
9
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1)  First Brent put $11 in the cash pan. Then he put $9 in the cash pan. Find out how much money he     saved in the cash pan.2)  Make a model with the ten frames and double-sided counters.3)  Carry out the plan.$11 and $911 red counters and 9 yellow counters$11 and $9 equal $2020 counters20
11
9
The model shows that the sum of $11 and $9 is $20.  4) The two parts that make up 20 are 11 and 9. I can make an addition number sentence (20 = 11 + 9 or 11 + 9 = 20). The inverse is 20 – 11 = 9 Brent saved $20. 
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1)  John has 13 blue cars and Henry has 4 red cars.  Find out how many cars there are in total.  2)  Use the part-part-whole mat. 3)  Carry out the plan.13 blue cars                  4 red cars4)  The model shows that the sum of 13 and 4 is 17. The total number of cars is 17.5)  On the number line, 13 and 4 make 17. That is 13 + 4 = 17. 13417 cars1340   1  2   3  4  5  6   7  8   9  10  11  12 13 14 15  16 17 18  19 20  1341717
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1)  A cake stand has two levels. One level has 8 cupcakes and the next level has 7 cupcakes. Find out     how many cupcakes are on the stand.  2)  Use the part-part-whole mat. 3)  Carry out the plan.8 cupcakes                  7 cupcakes4)  The model showed that the sum of 8 and 7 is 15.  5)  On the number line, 8 and 7 is 15, that is 8 + 7 = 15.8715 cupcakes870   1  2   3  4  5  6   7  8   9  10  11  12 13 14 15  16 17 18  19 20  8715Altogether, there are 15 cupcakes on the stand. 
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1)  A pack has 18 balloons. There are 12 blue balloons and the rest are gold. Find out how many gold balloons are in the pack.2)  Make a model using the ten frames and double-sided counters. 3)  Carry out the plan.18 red counters12 blue balloons and the rest are gold12 yellow counters and the rest are red counters18
12
6
Therefore, the  pack has 6 gold balloons. 4)  I can make an addition number sentence from     this problem (18 = 12 + 6) and a subtraction     number sentence (18 - 12 = 6).  There are 6 gold balloons.12 blue balloons and 6 gold balloons12 yellow counters and 6 red counters
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Addition and subtraction are inverse operations because one operation can "undo" the other operation.Adding 7 and 13 to make a sum of 20 is the opposite of subtracting 7 from 20 which leaves 13. 
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1)  There are 20 mangoes on the table with 7 of them being ripe mangoes. The rest are not ripe.     Find out how many mangoes are not ripe. 2)  Make a model with the ten frames and double-sided counters. 20 red counters7 ripe mangoes and the rest are green7 yellow counters and the rest are red counters207133)  The model shows that there are 13 green mangoes. 4)  Decompose 20 into 7 and 13.7 ripe mangoes and 13 green mangoes7 yellow counters and 13 red counters20 mangoes
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0   1  2   3  4  5  6   7  8   9  10  11  12 13 14 15  16 17 18  19 20  720The number line shows a 20-jump for the total number of mangoes and a 7-jump backward (from 20) for the number of ripe mangoes. The 7-jump backward for the ripe mangoes lands on 13.  Therefore,13 mangoes are green.  
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1)  The car costs $16. Mark only has $9. The rest of the money he does not have. Find out how much money he needs to buy the car.2)  Use the part-part-whole mat. 3)  Carry out the plan.The model shows that 9 from 16 is 7.4)  The inverse of subtraction is addition. A subtraction number sentence from the problem is      16 – 9 = 7. Mark needs $7 more to buy the car.5)  On the number line, a 16-jump shows the cost of the car. A 9-jump backward (from 16) shows how      much extra money is needed (7).Mark needs $7 more to buy the car. 9 taken from 16916$169counters9169counters7yellowcounters716
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0   1  2   3  4  5  6   7  8   9  10  11  12 13 14 15  16 17 18  19 20  916
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Ali has 19 blocks.  He has painted 5 blocks and the rest he will paint tomorrow. Find out how many blocks he has to paint tomorrow.Use the part-part-whole mat. The part-part-whole mat shows that 14 blocksare yet to be painted.The reverse of subtraction is addition. An addition number sentence is from the problem is5 + 14 = 19.A 19-jump shows the number of blocks Ali has. A 5-jump backward from 19 (landing on 14) shows how many blocks he must paint. Ali must paint 14 blocks tomorrow.  5 from 1951919 blocks5195 blocks14 blocks14190   1  2   3  4  5  6   7  8   9  10  11  12 13 14 15  16 17 18  19 20  519
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var mycurraudio="audio1";

function playaudio()
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